s

Reg. NO. 2 it iiaiarenensreses fCOd; N:}. ;052-A ]

Name :

SECOND YEAR Time : 2 Hours
SAY/IMPROVEMENT Cool-off time : 15 Minutes
JUNE 2017 - |
Part — 11

COMPUTER APPLICATION (Commerce)

Maximum : 60 Scores

/ General Instructions to Candidates : \
s There is a ‘cool-off time’ of 15 minutes in addmon to the writing time of 2 hrs.

¢ You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

Use the ‘cool-off time” to get familiar with questions and to plan your answers.
Read questions carefully before answering,

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is alse provided.

Give equations wherever necessary. '

Electronic devices except non-programmable catculators are not allowed in the
Examination Hall.
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[dentify the tollowing C++ tokens.. . : e

(a) *“welcome™ by int

(<) >= - (d) ++ | ' (Seores : 2)

operator is the arithmetic assignment operator.

(@ > (b ==

() += (d) = _ (Score : D

Explain break and continue statements with example. ': : ~ {Scores : 3)

Explain how allocation of string takes place in memory. o (Scores : 2)
OR . e,

Explain gets( ) and puts( } functions. o - {Scores : 2)

Write a C++ program to enter 10 numbers into an array and find the second largest

element. . (Scores : 5)
OR

Write a C++ program to convert all lowercase alphabets stored in a- string to

uppercase. _ (Scores : 3)

Explain three string functions in C++. | (Scores : 3)
2

Writcl_a program using a function to interchange the value of two variables. (Use call by

reference method for passing arguments.) (Scores : 3)
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. ®oevejoiam C++ tokens af)amossmam’ Ol jAmA0 960 |
(a) *“welcome” (b) int

() >= . (d) ++ (capodav’ : 2)

2. operator @yem arithmetic assignment operator.
(@) >> () ==
(c) += @ = (aapod : 1)
3. Break, continue statements 9394006 qUatI®e QRUIBAIHM)H:. (aapodau’: 3)
-

4. @@} string memory-@3 allocate £219)6a5)N@ af)ABHMNHDAN ANRGHOHO)B.
(capodau’: 2)
@OHE) @

5. gets( ), puts( ) functions a@eTHm alIBAI BN )b | ' (crwarﬁtm’: 2)

6. @ae) array-@d8 |0 numbers store ©aiy @pmlad ofton’ second largest - element

SHABIISLIOOMIBE Program afy®)m)d:. (eapodav’; 5)
@OLIBIoS
7. &) string-@d store Oagalaman aqep lowercase alphabets-em uppercase @Ryoe
@ogomem C++ program af)9)ad. (capoday’; §)
8. C++ er nommnlene @3aw string functions aflvedle.@lon)s. (capoday’: 3)

9. owee variable-agloer  value interchange ©aQOMmEB  GpEN%e  function
0nIcWOUla | )OhIME af)¥)@)d. {arguments passing-a call by reference method

QIO B . )} (o@odrm': 3)

P‘T.O‘e '\

»

7052-A



10.

11.

13,

15.‘

char s1[10] = “hello™, s2[10];
strepy (s2, sl);

- cout << §2;

What will be the output 7.
(a) hello (b)

() Thell ' (d)

The port no. for HTTP protocol is

(a) 20 - y (b)
(¢} 110 | ~ - (@
, ~
. ™~
Ditferentiate static and dynamic web page.
W

Pick the odd one out :
(ay BODY ) (b)
(c) HEAD - (d)

tag in HTML is used to create a drop-down list,

(a) SELECT (b}
(c) INPUT - (d)

hel

No output

80

53

HTML

ALIGN

OPTION
LIST

Write an HTML code to create the following table :

PAY ROLL
EMPNO | NAME | SALARY
104 ABIN | 15,000
102 SINI 25,000
103 - | ANU | 20,000

(Score: 1)

 (Score: I)

(Scores : 2)
(Score : 1)

(Scoi-e : 1)

N\

(Scores : 3)



10. char s1{10] = “hello™, s2[10]; SRR DY R AT B
strepy (82, s1); B |
cout << s2;
Output ag)0m206mMaTY af)$1@)E, ?
(a) hello (b) " hel
(c) hell ‘ (d) No output (eapod : 1)
11, @ryem HTTP protocol-ead port no. -
(& 20 {b) 380
(c) 110 (d) 53 {capod : 1)
2. Static, dynamic web page-5:8105 aIi@000amA3 ng) P10, (capadav’: 2)
3. @069aj0MMUIGE 8Q6e ST af)PIm) :
(a) BODY _ (b) HTML
(c} HEAD (d) ALIGN (capod : 1)
14, Drop-down list create £1a1goa3 £atewouiasmam HTML tag agaosm ' ?
(a) SELECT (b) OPTION
(c) INPUT (d) LIST' ' (@apod : 1)
15. ®36%aj0@)aM table create Halgomss HTML cade agy9)m)s
'PAY ROLL
EMPNO NAME SALARY
101 ABIN 15,000
102 SINI 25,000
103 ANU 20,000 (aapodmy’: 3)
7052-A 5 P.T.O.
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16. Wite a JavaScript which inputs the name, rollno and date_ot_birth of a student. Date

of birth contains month, day and year. Month shouid be sclected from a drop-down list.

17. DNS stands for

18. Differentiate shared and dedicated web hosting.

19.  Explain responsive web design.

20. is the symbol used for select operation in relational algebra.
(0 o - by

{¢) v : (d

- 21, Explain advantages of DBMS over conventional file system.

22. command in SQL is used to display the structure of a table.
(a) LIST (by STRUCT
(¢) DESCRIBE (d} SHOW

23.  Explain primary key constraint with an example. )

LA

7052-A ' ' 6
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16. &) s_tudcnt-é)r@ name, roflno, date_of_birth agyamlar input eaigooss ssca;-t.lavaScriptf
af)91od. Date of birth-@3 day, month, year agyamlas pere. Month @) drop-down list
s select 01210 . | (capodavy’: 3)
7. DNS-60 al)@emajnlo af)im)d:. _ (capod : 1)
18. Shared, dedicated web hosting-&8)615 Q@ PTVENRUE af)P))eh. (capoday’: 2)
19.  Responsive web design apomma aflvosaoons. (aapodav’: 3)
N
20. Relational algebra-a8 select opcfation-m'gnje@ouﬂas};cm symbol ag@oeny™?
@ o () .1 |
() w. d) n (eapod : 1)
2§, Conventional file system-@8 mlan” DBMS-mag qvaillewaumaod aluadlaalas d.
(Gapoday’: 5)
22, @] table-aag structure display 8219008 parcwoulesiom SQL command a@oan ?
(a) LIST
(b) STRUCT
(¢) DESCRIBE
(&) SHOW {cmpod : 1)
23, Primary key constraint ag)maseman 95a00sm qLadl@o alltddaee)d:.
(copodav’: 2)

7052-A 7 P.T.O.



24, Write SQL for ;- ";-’f}(;" o .

(a) Create a table student with the data [name char(20), rollno number(3), marks

number(3)].

~, (b} List name and rollno of all students.

\ (c) List name and rollno of students having marks > 600. (Scores : 3)
OR
25.  An employee table contains name, empno, basicpay, desig.
Write SQL for
(a)  Display name, empno and basicpay of all managers. (desig = “manager™)
(by Display empno and salary of all employees.
(salary = basicpay + da) |
(da = basicpay * 1.15).
(¢) Display name and empno of all the employees whose basicpay < 10000.
{Scores ; 3)
26. List the benefits of ERP implementation in an Enterprise. ’ {Scores : 3)
27.  SAP stands for . | ' (Score: 1)
28.  isthe popular mobile OS developed by Google based on Linux Kernel.
{(a) Android (by 108
(c) Blackberry Tod) go (Score: 1)
7052-A 8



24,

TIOPeO@IMIEHER SQL nf)93m)s.

(a) name_char(20), rollno number(3), marks number(3) agyorfl data: @nic@ouflaf

student ayam table create e21Qe.
(b)  apep students-aada@ie name, rolino agyariias list ot
(c} 600 &z)mE3 marks eMslo &)5lé8)es name, rollno display e1210))dh.
| (capodav’: 3)
ARHEIHIG |
5] employec table-@3 Moavajow)m data pere.
{nhame, empno, basicpay, desig)
@I ajomTNAIEISs SQL af)ejmid :
(a) amgR moemmA@OO)S name, empno, basicpay agorloy display Qz:ngg&.
(desig = “manager™) |
(b) e sllaimsnseesae empno, salary aganilas display 612196,
(salary = basicpay + da)
{da = basicpay *II.IS)

{(c) 10000-m3 @6y basicpay D88 «f)EI0 HAUMANIROSWY Name, empno agf)arial

display 6121} (sapodavy’: 3)
26. @) Enterprise-a8 ERP implement eaiqpoenes benefits agye;md. (capodav’: 3)
27. SAP-0} aj@gpaialo af)9}®)d:. (capod : 1)
28.  Linux Kernel aesiauromasssl Google develop eaiq) aBe0 (atoomes Mobile OS
aR@an ?
() Android (b 0S8
(c) Blackberry (d) go : (capod : 1)
JJOSZ'A 9 P-TvOo
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29. Differentiate GPS and EDGE. - . | (Scores : 2)

Ceat e - : - T

30. Write short note on IPR infringement. ' o o {Scores : 3)

e . -
L

* >

31, Pick the odd one out :
© (@ Kitkat o (b) JellyBean -

(c) '.lcecream Sandwitch . T (d) 108 ' (Score: 1)

' TL i
- JN
e - s
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129, GPS, EDGE a)anlaIanns 0130h0auemod ogf)e)m)d. o (anpoday’; 2)

30. IPR infringemeﬁt-mm .ﬂ,;cﬂgag.lo;onmt&m afyP) . R (sapodo’: 3) &

-

31, ageajs® émoams;m;a,

(a) Kitkat ' . (b) JellyBean - K
(¢) lcecream Sandwitch . (&) 0S8 {oapod : 1)

7052-A | B



HSE I/Il Subject Computer Applications (Commerce)

Code No. 7052 A
Scoring Key and Evaluation Scheme

an.No Scoring Indicators Split Score Total Score
1 Literals/constants/String, Keyword/datatype, «
operator/refational ,operator/increment 1/2*4 2
2 Option {C)or+= 1 1
3 Example ,syntax OR 11/2+11/2 3
Any two valid points 11/2+11/2
4 Explanation 1
Example for character array declaration/string 2
intilization/diagram for string memory allocation 1
OR
5 Syntax ,Example 141 2
6 Program structure 1
Syntax of loop 11/2 5
logic 2
Qutput 1/2
OR
7 Program structure 1
Syntaxof loop/using toupper(} 11/2 c
Logic 2
Qutput 1/2
8 Syntax/Explanation/Example 1 Mark each 3
Name only 1/2 Mark each
9 Program structure 1
Syntax of function Call by referance 1 3
Logic 1
10 Option (a)/Hello 1 1
11 Option{b)/80 1 1
12 Any 2 points 1+1 2
13 Option {d) /ALIGN 1 1
14 Opyion(a)/SELECT 1 1
15 Proper use of <HTMI|> <TABLE> <TR>,<TD>/<TH> 2 3
Use of Colspan attribute 1
16 Correct Structure & logic OR 3
Usage of <script >tag with javascript 1
Structure/<select> 1
17 Domain Name System 1 1
18 Any 2 Points of dedicated& Shared Hosting 1+1 2
19 Anyv2 Points of Respansive Web Design 11/2+11/2 3
20 Opyion{a)/c 1 1
21 5 points 1 mark each 5
22 Option C/DESCRIBE 1 1
23 Definition/Explanation 2 2




24 Correct Query 1 mark each

Create,Select ,where keyword 1/2 mark each
OR

25 Correct Query 1 Mark Each
Select,Update, Where Keyword 1/2mark each

26 Any 3 points of ERP 1 mark each

27 Sytems Application and Produts 1

28 Option (a)/Android 1

29 Any 2 points of GPS & EDGE OR 1+1
Fullform of GPS &EDGE 1

30 Any 2 point of IPR Infrigenment 11/2 each

31 Option (d) / los 1
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